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g-averse investor 1S considering the addition of
:‘1;“: -[nu securitics under consideration both have
foli¢ However, the distribution of possible retums assc
. -cl:I viation of 12 percent, while .-\:-HL'.[ B's standard d
:-1""Jllir-|‘:'ulkd the risk-averse investor add to histher portfolio?
assel =

Assel A
Assetl B.
Both A and B.
d. Neither A nor B ) :
Cannot tell without more information
c
Which of the following statements is likely 10 encourage a firm 1o increase its de

in its capital structure?

lts sales become less stable over time.

a
porate iax rate declines.

b. Iis com

Management believes that the firm’s stock is overvalued

d. Statemenis a and b are cormmecl
None of the siatemenis above is correct

Stock A has a beta of 1.5 and Stock B has a beta of 0.5, Which
statemenis must be true about these securities? (Assume th .
a When held in isolation, Stock A has greater risk than Stock B
b Stock B would be a more desirable addition to a portfolio than Stock A
- . s £ LOCK
& Stock A would be a more desirable addition to a portfolio than S
h

=d. The expected return on Stock A will be greater than that on Stock B

The expected return on Stock B will be greater than that on Stock A

e

Consider the following information for three stocks, Stock A, Stock B. and
» A, ol0CK B, and Stock (

4.
Expected Standard
'3 L &= ' i -
b 5 Stock B 10 20 1.0
Stock C 12 20 =

Portfolio P has half of its funds invested in Stock A and half invested in Stocl

. . : . . f invested in Stock B.
Pnrlfﬂim Q has one Ihu'd of its funds invested in each of the three s{ock,:. The Fil;k-f[fi
rate is 5 percent, What is the market risk premium ? S

a. 4.0%
b. 4.5%
— & 50%
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siruciure

you have computed the break-even point b
Assume there are no taxes Al the by

firm 15 Just eaming L‘I‘.\"'L!"_'h 1o pay for the Ci

; firm's camnings betore interest and taxes
¢! eamnings per share for the levered option
{\[‘[[l"”
d. advantages of leverage exceed the disadvantage,
¢. firm has a debt-equity ratio of .50 S L

You hold a d

different common stocks (that is, yvour tot

s g'.]ll.:! to 1.2
for 510,000

1o I 4

a 1.165
b. 1235
c. 1.250
d 1284
e 1.333

liversified portfolio consisting

You plan to use the proceeds 1o purchase 4

What will be the beta of the new portfolig?

You have decided to se  of

Which one of the following states that the valye of a firm ic s :
= related 1o the firmate e

structure?

2. Capital Asset Pricing Model
M&M Proposition |

position 11

Law of One Price
Efficient Markets Hypothesis

b
C M&M Pro
d
c.

Which of the
you randomly

a
b.
C.
d. Statements
e,

Given the fol

o pEL A wiae T -

.-\dd_ing more stocks to your portfolio reduces the portfolio’s company-spe
Adding more stocks to your portfolio reduces the beta of your portfolio
Adding more stocks to your portfolio increases the portfolio’s expected retum

3%

following statements best describes what would be expected to happen as
add stocks to your portfolio? : &
cific nsk

(et

a and c are correct,

All of the statements above are correct

; s etun and the
lowing probability distribution, what are the expected retum
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(20 questions for 2 Points cach, !_

" total of 40poing)

1. Twin Hills Inc. is considerin, sed
v i iR E a propo Project. Given i inforrmam ey
Cmated that the Project is risky but has g _:;;H:I:E:I:P;nl o y

following factors would make the company less likely 1o adopt the :ﬁ-ml value. Wiich of the
UFTeT. presjecy?

a It is revealed that if the comy i
pany proceeds with the :
}:t:‘ |1*¢ wo Dl[(!"'dﬁ u?cc&tms. both of which have positive ﬁlﬁ:ffxrw
It is revea at the com has an opti
;f it is discovered 1o be unr[:r?f":'lahle. S i PICICER S i s
€. It is revealed that if the company proceeds with the pro; 1, it will ha LT
repeat the project 4 years from now. R i
d. Statements a and b are correct,
€. Statements b and ¢ are correct.

Project, the compay wisl

2z, Project A has an internal rate of retumn (TRR) of 15 percent. Project B has an IRR of 14
percent.  Both projects have a cost of capital of 12 percent. Which of the following
stalements is most correct?

a. Both projects have a positive net present value (NPV).

b. Project A must have a higher NPV than Project B. .

¢. If the cost of capital were less than 12 percent, Project B would have a higher TRR then
Project A.

d. Statements a and ¢ are correct.

e. All of the statements above are correct.

3. St. John’s Paper is considering purchasing equipment today that has a dcprmab'c cost of $1
million. The equipment will be depreciated on a MACRS 5-year basis, which implies the

following depreciation schedule:
Year MACRS Depreciation Rates

0.20
032
0.19
0.12
0.11
0.06

a'.U'I-h-LJM!—'

Assume that the company sells the equipment after three years for $400.000 and the

company’s tax rate is 40 percent. What would be the tax consequences resulting from te
sale of the equipment?
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no ax Conssquences

would have to pay $44 000 in 1

v wostild Bave 1o pay $ 1640 000

v wollld receive a L

iy wioulld receive a ta

e [RR me
C If IRR. = the cost of capital, then NPV =0
d. NPV can be n

&/ The NPV method is not affected by the multiple IRR prob

o -
method will also be acceptable by

ative if the IRR is positive

L 15 not considered a capital ¢
the weighted average cost of capiial (W ACC) as il a
e welghied aver £ |

a Long-tenm debt
b. Common stock

€. Accounis payable and accruals.
i oL~
a referred stock

7 Laurier Inc. is a household products fimm that is consid
evaluating whether to go ahead with the new d

should Laurier explicitly include in

ering devy elopir

I 3 DeW

elergent project, which of the fo
its cash flow analysis?
& The company will produce the detergent in

4 vacant facility that they renoy,
ago at a cost of $700.000,

Page 4 of 17

detergent. In

Howin

aled five years
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- 3 v 1o significantly reduce the sales of the other deteroess
- |‘_.|r_.”||_r-|1j\||;\1.|.'- O S1EN 3 ¥ other detery
”“_-n('k\- & |

ts the company currently sells

- prudul.'

Giaiements b and ¢ are cormect

d

-

All of the statemenis above are cormect

N - i1
A major disadvantage ol the payback period is that in
a Uses an arbitrary cutoff.
b lgnores cash flows beyond the payback period
. Does not directly account for the tme value of money
& - >
d. Statements b and ¢ are cormect

All of the statemenits above are correc

<

As a general rule, the capital structure that

Maximizes expected EPS also maximizes the price per share of common stock
b. Minimizes the interest rate on debt also maximizes the expected EPS

¢. Minimizes the required rate on equity also maximizes the stock price
Maximizes the price per share of common stock also minimizes the weighted average
cost of capital

None of the statements above 15 correct.

Which of the following statements is most correct? (Assume that the risk-free rate
remains constant. ) T

'a. If the market risk premium increases by | percentage point, then the required return
. “.on all stocks will rise by 1 percentage point.

If the market risk premium increases by 1 percentage point, then the required return
_will increase for stocks that have a beta greater than 1.0, but it will decrease for stocks
. that have a beta less than 1.0.
£-) If the market risk premium increases by 1 percentage point, then the required retum

will increase by 1 percentage point for a stock that has a beta equal to 1.0.
d. Statements a and c are correct.
e. None of the statements above is correct.









